BK Albrekts
Silverstegen Omg 15 2019-04-04

IMP over faltet, 28 bord, 56 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 301 2.92 Borje Dahlberg - Tommy Gunnarsson 4744 10295
2 214 2.46 Sonia Banghall - Manfred Bachmann 42729 26708
3 311 2.18 John Andersson - Ernst Johansson 91438 7291
4 306 2.12 Elena Bolafios - Henrik Johansson 92020 15131
5 213 1.94 Gert Andersson - Stellan Adolfsson 88600 5088
6 113 1.93 Maud Bolinder - Maja-Stina Lindgren 45864 2680
7 112 1.75 Hakan Bjorklund - Maj-Britt Forsaeus 38101 45807
8 202 1.53 Torgild Olsson - Villy Havasi 2730 89205
9 108 1.48 Bodil Gustafsson - Karin Edler 22165 30687
10 5 1.35 Lars-Goéran Larsson - Ulf Persson 2743 2787
10 8 1.35 Sara Bengtsson - Kjell Oberg 15829 15657
12 6 1.27 Per Andersson - Gunilla Andersson 17111 88955
12 304 1.27 Kenneth Johansson - Hans Andréasson 11997 8215
14 203 1.23 Jan-Erik Helmersson - Jérgen Neldemo 4243 18660
15 109 1.14 Lennart Johansson - Sven Lilja 26463 4263
16 114 1.09 Birgitta Lindberg - Gun-Britt Enroth 34160 42731
17 7 1.07 Hasse Roman - Ylva Roman 44384 86682
18 107 1.04 Claes Borjesson - Uno Andersson 92022 14106
19 105 1.02 Leif Marthinzon - Arne Carlsson 14864 7382
20 204 0.97 Christer Larsson - Jan Enarsson 39930 4272
21 1 0.96 Suzanne Lemborn - Michael Lemborn 14984 1215
22 11 0.95 Jan-Ake Ericsson - Vigdis Hegland 10723 40161
23 102 0.75 Lars Kennethsson - Jan Nilsson 17074 11991
24 212 0.66 Kjell Olsson - Ingrid Dahlin 45456 45452
25 209 0.64 Christer Storm - Arne Svensson 4266 4267
26 110 0.52 Jan Malmberg - Jan Lidholm 2687 10993
27 10 0.27 Lars-Eric Larsson - Magnus Larsson 2446 33568
28 303 0.01 Lars Viksten - Tony Hjalmarsson 81212 81211
29 103 -0.01 Markus Bengtsson - Lars-Anders Callenberg 89654 1601
30 210 -0.27 Ake Enander - Lars Svensson 7351 2688
31 310 -0.52 Bengt Ronnbom - Bertil Samuelsson 18282 10213
32 9 -0.64 Georgios Faltsetas - Gunilla Jern 32393 45624
33 12 -0.66 Kurt Axelsson - Ann Ohnedal 14842 53984
34 302 -0.75 Britt-Marie Warborn - Bertil Persson 2783 7366
35 211 -0.95 Ulla Hindsén - Inger Hedstrém 19051 84020
36 201 -0.96 Tage Ericsson - Ulla-Karin Ericsson 5311 5316
37 4 -0.97 Siv Jacobsson - Annika Levin 7353 79423
38 305 -1.02 Torleif Hagg - Kenneth Svensson 12267 14859
39 307 -1.04 Pia Nilsson - Nils-Arne Nilsson 48498 53888
40 207 -1.07 Per Sintorn - Erling Ohlsson 36301 87034
41 314 -1.09 Eva Svensson - Kitty Bertilsson 37078 45868
42 309 -1.14 Christina Frey - Siw Svensson 46118 56262
43 3 -1.23 Lennart Johansson - Géran Svensson 12266 372
44 104 -1.27 Torgny Carlsson - Lennart Svensson 10237 14104
44 206 -1.27 Monica Hedskdld - Carl-Olof Jagebro 92026 26790
46 205 -1.35 Bo Johansson - Anita Riccius 7290 18080
46 208 -1.35 Mona Kareby - Bengt Kareby 26972 26973
48 308 -1.48 Olof Helmersson - Kjell Svensson 2176 4250
49 2 -1.53 Agneta Svenberg - Bobbo Jovic 26779 48267
50 312 -1.75 Siv Axelsson - Agneta Klint 14843 53947
51 313 -1.93 Bertil Sjoberg - Lena Ljungberg 37484 30682
52 13 -1.94 Stig Emblad - Lars-Olof Carlsson 50601 37071
53 106 -2.12 Mats Ahlstrom - Nils Svensson 16032 26780
54 111 -2.18 Pia Larsson - Margareta Svensson 50588 86685
55 14 -2.46 Ingrid Wackerberg - Licelott Hallman 92023 78606
56 101 -2.92 Britt Bjork - Birgitta Lénberg 14866 13579
1 4E5 Basta kontrakt 2 4 K10943 Basta kontrakt 3 4 Kn754 Basta kontrakt
Nord vE84 44 O =-420 Ost vE62 7¢ O D -4800 Syd vE97 34 S =140
Ingen + DKn943 NS 4+ Kn5 ov +E4
%952 & ¢ v & NT %852 & ¢ v & NT #EK83 & ¢ v & NT
4 KD1072 4 Kn983 N38837 a72 4 DKn N 4 4 12128 4EKI93 8 N9 6 396
v K102 vD6 S 38837 v 107 vD S 4 4 12128 v1082 vKDKn543 S 9 6 3 9 6
+10 ¢ K75 O 105 5 106 +D10764 ¢ K9832 089000 ¢ K98 ¢ DKn53 047946
*E864 «KD73 V 105 5 106 210963 &EKD74 V89000O0 #765  &DKn V47946
464 « E865 4 D1062
v Kn9753 v KKn98543 v6
+ E862 ¢E + 10762
#Kn10 #Kn #10942
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 212 34 V= ¢Q -140 1320 -132.0| 7 207 5vDS+1 ¢4 1050 268.0 -268.0( 8 208 34 S+1 T 170 187.0 -187.0
1201 34V+1 ¢Q -170 107.0 -107.0| 1 201 4v S+3 45 710 82.0 -82.0(109 309 34 N+1 ¥K 170 187.0 -187.0
5205 34V+l ¢Q -170 107.0 -107.0| 8 208 4v S+3 +7 710 82.0 -82.0| 11 211 34 N= vK 140 176.0 -176.0
6 206 34 V+1 ¢3 -170  107.0 -107.0 (109 309 4v S+3 ¢4 710 82.0 -820| 6206 INN+1 vK 120 156.0 -156.0
102 302 34 V+1 ¢Q -170 107.0 -107.0 ({111 311 4v S+3 ¢4 710 82.0 -82.0( 12 212 INN-1 K -50 61.0 -61.0
103 303 24 V+2 vA -170 107.0 -107.0( 4 204 5v S+1 #T 680 57.0 -57.0|113 313 INN-1 ¥K -50 61.0 -61.0
105 305 34 V+1 ¢Q -170 107.0 -107.0( 6 206 4v S+2 #T 680 57.0 -57.0(112 312 2v O= #T -110 17.0 -17.0
106 306 24 V+2 vA -170 107.0 -107.0( 9 209 5v S+1 T 680 57.0 -57.0| 1201 2v O+1 46 -140 -7.0 7.0
108 308 34 V+1 vA -170 107.0 -107.0| 10 210 54 N+1 #A 680 57.0 -57.0| 2202 2v O+1 46 -140 -7.0 7.0
110 310 34 V+1 ¢Q -170 107.0 -107.0| 12 212 5v S+1 #T 680 57.0 -57.0| 3203 2vO+1 #T -140 -7.0 7.0
111 311 34 V+1 vA -170 107.0 -107.0| 14 214 5v S+1 +Q 680 57.0 -57.0| 4204 2v O+1 46 -140 -7.0 7.0
2 202 44 O= vA -420 -61.0 61.0|101 301 5v S+1 &T 680 57.0 -57.0| 7 207 3vO= 46 -140 -7.0 7.0
3203 44 V= &A -420 -61.0 61.0|102 302 5v S+1 ¢J 680 57.0 -57.0| 13 213 2v O+1 &T  -140 -7.0 7.0
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4204 464 V= ¢Q -420 -61.0 61.0|104 304 54 N+1 &A 680 57.0 -57.0(101 301 2v O+1 42 -140 -7.0 7.0
8 208 44 V= vA 420 -61.0 61.0|113 313 44 N+2 &A 680 57.0 -57.0(102 302 3v O= &T -140 -7.0 7.0
9209 44 V= ¢Q -420 -61.0 61.0|114 314 4v S+2 +4 680 57.0 -57.0|103 303 2v O+1 46 -140 -7.0 7.0
11 211 464 V= ¢Q -420 -61.0 61.0 3203 54 N= &K 650 34.0 -34.0(105 305 2v O+1 &2 -140 -7.0 7.0
13 213 44 V= &9 -420 -61.0 61.0 5205 5vS= ¢4 650 34.0 -34.0(107 307 2v O+1 6 -140 -7.0 7.0
14 214 464 V= ¢Q -420 -61.0 61.0(105 305 5v S= &6 650 340 -34.0|108 308 3vy O= 46 -140 -7.0 7.0
101 301 4e V= ¢Q -420 -61.0 61.0(107 307 54 N= &A 650 34.0 -34.0|110 310 3vy O= 46 -140 -7.0 7.0
107 307 44 V= ¢Q -420 -61.0 61.0(108 308 5v S= +4 650 34.0 -34.0(111 311 2v O+1 &5 -140 -7.0 7.0
109 309 44 V= vA -420 -61.0 61.0( 11 211 54D O-3 #J 500 -63.0 63.0|114 314 2v O+1 &2 -140 -7.0 7.0
112 312 44 V= ¢Q -420 -61.0 61.0|103 303 5¢DV-2 4A 300 -177.0 177.0| 10 210 3v O+1 42 -170  -30.0 30.0
113 313 464 V= ¢Q -420 -61.0 61.0(110 310 5¢DO-2 v5 300 -177.0 177.0|104 304 2y O+2 42 -170  -30.0 30.0
114 314 44 V= ¢Q -420 -61.0 610112 312 3v S+4 +7 260 -193.0 193.0 {106 306 2y O+2 +¢6 -170  -30.0 30.0
7 207 5¢DN-3 48 -500 -116.0 116.0 2 202 540-2 5 100 -261.0 261.0 9209 2v O+3 42 -200  -58.0 58.0
10 210 5¢DN-3 3 -500 -116.0 116.0| 13 213 5¢ O-2 4A 100 -261.0 261.0 5205 4v O= &6 -620 -268.0 268.0
104 304 5¢DN-3 43 -500 -116.0 116.0|106 306 54 O-2 ¢A 100 -261.0 261.0| 14 214 4vDO= 46 -790 -324.0 324.0
4 41084 Basta kontrakt 5 4 K76 Basta kontrakt 6 4 DKn732 Basta kontrakt
Vast v EKn10 44 V =-620 Nord v 108632 44 O =-130 Ost v 1097 5NT O =-660
Alla 4 965 NS *72 ov + Kn94
&E732 & ¢ v & NT &752 & ¢ v & NT K38 & ¢ v & NT
& ED & KKn753 N7 1512 4D9432 48 N3 56 65 410 « E98 N2 2252
v D86 v K32 S71512 vE9 vKD74 S35665 v E43 v KDKn5 S22252
¢+ EKD1043 ¢ 72 O 6 106 108 +108 ¢ EKn54 O 107 7 7 8 ¢ EKD1083 ¢ - O 1111118 11
94 D105 V 6 107 108 &#Kn843 #ED109 V96777 #1073 &#DKn9542 VvV 1111118 11
4962 & EKn105 4 K654
v 9754 v Kn5 v 862
¢ Kn8 + KD963 ¢ 7652
#KKn86 *K6 #E6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9209 4NO-2 &6 200 227.0 -227.0 1201 24 V-2 ¢7 100 136.0 -136.0 {112 312 3¢ V+1 &Q -130 249.0 -249.0
12 212 44 O-2 #6 200 227.0 -227.0 7207 3NO-2 «J 100 136.0 -136.0 ({113 313 3¢ V+1 43 -130 249.0 -249.0
114 314 3NV-2 &3 200 227.0 -227.0 {102 302 3¢ O-2 vJ 100 136.0 -136.0 9209 3¢ V+2 4Q -150 243.0 -243.0
1201 3NO-1 #8 100 179.0 -179.0|109 309 3NO-2 +Q 100 136.0 -136.0 | 10 210 3¢ V+2 w7 -150 243.0 -243.0
2202 3NO-1 #6 100 179.0 -179.0 ({113 313 3N O-2 ¢K 100 136.0 -136.0 |114 314 3¢ V+2 &«Q -150 243.0 -243.0
5205 3NO-1 8 100 179.0 -179.0 3203 24 V-1 ¢7 50 98.0 -98.0 2202 54 0= &5 -600 -15.0 15.0
11 211 3NO-1 &6 100 179.0 -179.0 8 208 3#0-1 vJ 50 98.0 -98.0 3 203 5¢ V= 43 -600 -15.0 15.0
105 305 3NV-1 «#6 100 179.0 -179.0 9209 2v O-1 K 50 98.0 -98.0 7 207 54 O= 45 -600 -15.0 15.0
108 308 3NO-1 #8 100 179.0 -179.0 |107 307 2N O-1 vJ 50 98.0 -98.0| 11 211 54O = 44 -600 -15.0 15.0
112 312 3NO-1 «8 100 179.0 -179.0 |110 310 3NO-1 & 50 98.0 -98.0| 12 212 54 O = 44 -600 -15.0 15.0
14 214 2¢ V+2 &3 -130 63.0 -63.0|103 303 INO= &T -90 30 -30( 14 214 54 0= 45 -600 -15.0 15.0
107 307 2¢ V+2 45 -130 63.0 -63.0| 12 212 14 S-1 vA -100 -2.0 2.0|102 302 5 O= 45 -600 -15.0 15.0
113 313 3¢ V+1 &2 -130 63.0 -63.0 4204 24 0+1 ¢K -110 -9.0 9.0 /106 306 5# O= &5 -600 -15.0 15.0
109 309 3¢ V+2 &2 -150 59.0 -59.0|105 305 24 V= vT -110 -9.0 9.0|108 308 54 O= 45 -600 -15.0 15.0
8 208 4¢ V+2 45 -170 45.0 -45.0|106 306 24 V= ¢7 -110 -9.0 9.0|110 310 3NO = 5 -600 -15.0 15.0
110 310 2¢ V+4 &T -170 45.0 -45.0|114 314 29y O= 3 -110 -9.0 9.0 8 208 4v O= &A -620 -37.0 37.0
7207 3NO= 8 -600 -166.0 166.0 5205 INO+1 K -120 -22.0 22.0 1201 3NO+1 46 -630 -40.0 40.0
10 210 BNO= %6 -600 -166.0 166.0| 11 211 2NO= +¢K -120 -22.0 22.0| 13 213 4vy O+1 ¢7 -650 -65.0 65.0
13 213 3NO= %6 -600 -166.0 166.0| 13 213 INO+1 ¢K -120 -22.0 22.0 4 204 3ANO+2 44 -660 -65.0 65.0
102 302 3NO= #8 -600 -166.0 166.0 {101 301 INO+1 +¢6 -120 -22.0 220 5205 3NO+2 45 -660 -65.0 65.0
104 304 3NO= &5 -600 -166.0 166.0 {108 308 2N O= vJ -120 -22.0 22.0 6 206 3BNO+2 45 -660 -65.0 65.0
111 311 3NV = &3 -600 -166.0 166.0 (112 312 INO+1 4] -120 -22.0 22.0|101 301 3NO+2 45 -660 -65.0 65.0
106 306 3NO+2 ¢5 -660 -201.0 201.0 2 202 INO+3 ¢K -180 -63.0 63.0(103 303 3NO+2 «4 -660 -65.0 65.0
3203 3NO+3 v9 -690 -215.0 215.0| 14 214 INS-3 T -300 -134.0 134.0105 305 3NO+2 44 -660 -65.0 65.0
4 204 3NO+3 v4 -690 -215.0 215.0 6 206 3NV=¢2 -400 -196.0 196.0 {107 307 3N O +2 45 -660 -65.0 65.0
6 206 3BNO+3 ¥5 -690 -215.0 215.0 (111 311 3NO= +¢K -400 -196.0 196.0|109 309 3NO+2 «6 -660 -65.0 65.0
101 301 3NO+3 ¥2 -690 -215.0 215.0| 10 210 3NO+1 +¢6 -430 -207.0 207.0 (111 311 3NV+2 4Q -660 -65.0 65.0
103 303 3NO+3 v4 -690 -215.0 215.0|104 304 3NO+1 +4 -430 -207.0 207.0|104 304 64 O= &3 -1370 -350.0 350.0
7 & KD4 Basta kontrakt 8 & D102 Basta kontrakt 9 &3 Basta kontrakt
Syd v 954 44V =-130 Vast v EKn7 2NT N D-1-100 |Nord v K10742 5¢v N =450
Alla + E875 Ingen + D103 ov + 7642
#1053 & ¢ v & NT #E963 & ¢ v & NT &#KD8 & ¢ v & NT
49 & E108765 N2 77 66 &E3 aKn97654 N 8 7 7 5 7 « ED109865 4 Kn7 N 5 11115 5
vE2 v KD87 S27 766 v92 v KD54 S87 757 v Kn v 963 S 5 11115 5
¢ 32 + D9 O 104 6 7 5 ¢ KKn752 496 O56 6 85 4953 +K 081183
&#KDKnN98642 &7 V 104 6 7 5 &KD84 &2 V566 86 94 &#EKN107532 vV 8 1 1 8 3
& Kn32 4 K8 & K42
v Knl1063 v 10863 v ED85
+ KKn1064 ¢+ E84 + EDKn108
&E #Kn1075 &6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
5205 44 O-4 #A 400 273.0 -273.0| 14 214 2NV -4 &6 200 156.0 -156.0 6 206 4v S+2 #9 480 100.0 -100.0
113 313 3NV-4 ¢5 400 273.0 -273.0 5205 2¢ V-2 42 100 94.0 -94.0|110 310 4v S+2 &9 480 100.0 -100.0
4 204 54V-1 ¢A 100 131.0 -131.0 6 206 3¢ V-2 42 100 94.0 -94.0 113 313 4v S+2 &9 480 100.0 -100.0
6 206 54 O-1 +A 100 131.0 -131.0| 11 211 44 O-2 +8 100 94.0 -94.0|103 303 3NS+2 «8 460 77.0 -77.0
7 207 54V-1 ¢A 100 131.0 -131.0 {103 303 3¢ V-2 vA 100 94.0 -94.0 1201 49y N+1 «J 450 75.0 -75.0
8 208 64 V-1 ¢A 100 131.0 -131.0|109 309 2NV-2 +J 100 94.0 -94.0 2202 4v N+1 &J 450 75.0 -75.0
104 304 34 O-1 2 100 131.0 -131.0 8 208 24 O-1 v6 50 55.0 -55.0 4 204 4v N+1 &A 450 75.0 -75.0
106 306 5« V-1 ¢A 100 131.0 -131.0| 12 212 2NV -1 43 50 55.0 -55.0 5205 4v N+1 &J 450 75.0 -75.0
112 312 5« V-1 &K 100 131.0 -131.0 |105 305 24 O-1 T 50 55.0 -55.0 8 208 5v N= &A 450 75.0 -75.0
10 210 3« V+1 45 -130 -8.0 8.0|110 310 24 O-1 &J 50 55.0 -55.0| 10 210 4v S+1 &A 450 75.0 -75.0
102 302 4 V= ¢A -130 -8.0 8.0 112 312 2¢ V-1 a2 50 55.0 -55.0| 11 211 5v N= &J 450 75.0 -75.0
103 303 3« V+1 ¢7 -130 -8.0 8.0|114 314 24 O-1 +4 50 55.0 -55.0(102 302 4y N+1 &A 450 75.0 -75.0
105 305 4 V= ¢A -130 -8.0 8.0 4 204 2¢ V= a2 90 -42.0 42.0(104 304 4v S+1 &A 450 75.0 -75.0
109 309 4 V= ¢A -130 -8.0 8.0| 10 210 2¢ V= a2 90 -42.0 42.0|105 305 4v N+1 «J 450 75.0 -75.0
110 310 3« V+1 &K -130 -8.0 8.0| 13 213 2¢ V= &2 90 -42.0 420 7 207 4v S= #9 420 53.0 -53.0
111 311 4V= ¢A -130 -8.0 8.0 1201 3#N-2 49 -100 -48.0 48.0| 12 212 4v N= «J 420 53.0 -53.0
114 314 3V +1 ¥9 -130 -8.0 8.0 2202 2vS-2 &A -100 -48.0 48.0|112 312 4v S= &A 420 53.0 -53.0
1201 3«V+2 v4 -150 -21.0 21.0 9 209 2NN-2 46 -100 -48.0 48.0|108 308 5¢ S= &A 400 33.0 -33.0
2 202 3 V+2 &K -150 -21.0 21.0|108 308 2v S-2 &4A -100 -48.0 48.0(109 309 54 O-4 &6 400 33.0 -33.0
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101 301 44V +1 &3 -150 -21.0 21.0| 3 203 24 O= &J -110 -53.0 53.0(114 314 44 V-3 v2 300 -26.0 26.0
107 307 4+ V+1 4K -150 -21.0 21.0| 7 207 2¢ V+1 T -110 -53.0 53.0|111 311 2NS+3 &A 210 -85.0 85.0
108 308 3V +2 4K -150 -21.0 21.0(|101 301 24 O= +¥6 -110 -53.0 53.0| 9 209 44DV-1 «K 200 -88.0 88.0
13 213 34V +3 4K -170 -34.0 34.0|102 302 24 O= ¥5 -110 -53.0 53.0(107 307 44DV -1 #K 200 -88.0 88.0
3203 5#V= &K -600 -251.0 251.0|106 306 24 O= ¢8 -110 -53.0 53.0| 3203 3¢ S+2 ¥J 150 -120.0 120.0
9209 54V= &K -600 -251.0 251.0|107 307 34 O= v6 -140 -81.0 810| 14 214 44 V-1 ¢7 100 -150.0 150.0
12 212 5#V= 44 -600 -251.0 251.0|104 304 3v S-3 A -150 -850 85.0(101 301 34 V= ¢4 -140 -259.0 259.0
14 214 54V = &K -600 -251.0 251.0|113 313 3v S-3 «4A -150 -850 85.0(106 306 34 V= ¢4  -140 -259.0 259.0
11 211 54 V+1 &5 -620 -256.0 256.0 {111 311 3v S-4 «A -200 -122.0 122.0| 13 213 34 V+1 ¢4 -170 -277.0 277.0
10 48 Basta kontrakt 11 4 EK10765 Basta kontrakt 12 410972 Basta kontrakt
Ost v EKD82 4¢ S =130 Syd v Kn108 2NT SD-1-100 |Vast v EK10 5NT N =660
Alla ¢ K742 Ingen + 10 NS ¢+ E94
#D105 & ¢ v & NT »E87 & ¢ v & NT #EKn8 & ¢ v & NT
496542 4 EK10 N 4 108 5 5 4DKn94 432 N55876 D84  4Kn65 N9 118 1011
v 964 vKn107 S 4 108 5 5 vKD3 v94 S55877 vD743 9852 S 9 118 1011
+3 ¢+ E6 09 2 488 ¢ EKKN9 ¢ 8743 O7 8 466 ¢+ KD 463 031432
#E742 #KKn863 V92488 *K5 #DKn964 V78467 #KD97 #6432 V31432
4 DKn73 48 & EK3
v53 vE7652 v Kn6
+ DKn10985 + D652 + Kn108752
*9 #1032 #105
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
107 307 5¢DS= ¢9 750 331.0 -331.0 | 11 211 5¢ V-3 «A 150 120.0 -120.0| 11 211 3NN+3 #4 690 169.0 -169.0
3203 5¢ S= 44 600 292.0 -292.0 ({103 303 3NV-3 vJ 150 120.0 -120.0| 5 205 3NN+2 #2 660 154.0 -154.0
14 214 INO-2 ¢5 200 107.0 -107.0|109 309 3v S= «Q 140 114.0 -114.0| 6 206 3NN+2 &5 660 154.0 -154.0
108 308 34 O-2 5 200 107.0 -107.0| 10 210 3¢ V-2 &K 100 86.0 -86.0| 7 207 3NN+2 v2 660 154.0 -154.0
1201 2v N+1 &K 140 65.0 -65.0| 13 213 4¢ V-2 «A 100 86.0 -86.0| 10 210 3NN+2 v9 660 154.0 -154.0
13 213 3vy N= #A 140 65.0 -65.0(104 304 4¢ V-2 &A 100 86.0 -86.0| 13 213 3NN+2 v2 660 154.0 -154.0
112 312 3y N= «A 140 65.0 -65.0(114 314 3¢ V-2 4A 100 86.0 -86.0(102 302 3NN +2 #3 660 154.0 -154.0
4204 34V-1 vA 100 40.0 -40.0| 3 203 14 N= #Q 80 73.0 -73.0|103 303 3NN+2 &6 660 154.0 -154.0
6 206 34 O-1 5 100 40.0 -40.0| 6 206 3NV-1 &5 50 48.0 -48.0|104 304 3NN+2 v2 660 154.0 -154.0
8 208 34 O-1 ¥5 100 40.0 -40.0| 7 207 3¢ V-1 A 50 48.0 -48.0|107 307 3NN+2 &6 660 154.0 -154.0
10 210 34 V-1 vK 100 40.0 -40.0|102 302 3NV-1 A 50 48.0 -48.0|108 308 3NN+2 #3 660 154.0 -154.0
104 304 34 O-1 8 100 40.0 -40.0|105 305 3¢ V-1 A 50 48.0 -48.0|110 310 3NN+2 ¥9 660 154.0 -154.0
105 305 24 O-1 +¢Q 100 40.0 -40.0| 5205 24 N-1 3 -50 -21.0 21.0(112 312 3NN+2 9 660 154.0 -154.0
106 306 34 O-1 ¥5 100 40.0 -40.0|106 306 24 N-1 #Q -50 -21.0 21.0( 2202 2NN+4 5 240 -90.0 90.0
111 311 34 O-1 vA 100 40.0 -40.0|107 307 34 N-1 8 50 -21.0 21.0| 12 212 2NN+4 v9 240 -90.0 90.0
113 313 3# O-1 5 100 40.0 -40.0|108 308 24 N-1 ¢4 -50 -21.0 21.0( 8 208 2NN+3 ¢9 210 -117.0 117.0
102 302 3vy N-1 #4A -100 -86.0 86.0|113 313 1a V= ¢T -80 -48.0 480 9209 2NN+3 2 210 -117.0 117.0
109 309 3v N-1 4A -100 -86.0 86.0(|101 301 INV= a2 -90 -54.0 54.0(105 305 2N N+3 «5 210 -117.0 117.0
2202 24 O= ¥5 -110 -87.0 870| 1201 34 N-2 ¥4 -100 -59.0 59.0|109 309 2NN+3 ¢5 210 -117.0 117.0
7 207 24 O= ¥5 -110 -87.0 87.0| 4204 24 N-2 v9 -100  -59.0 59.0|114 314 2NN+3 ¥9 210 -117.0 117.0
11 211 24 O= &9 -110 -87.0 87.0| 8 208 24 N-2 v9 -100  -59.0 59.0|106 306 INV-4 47 200 -117.0 117.0
101 301 24 O= <vA -110 -87.0 87.0| 9 209 34 N-2 v9 -100  -59.0 59.0| 1201 2¢ S+3 ¥3 150 -159.0 159.0
103 303 24 O= +Q -110 -87.0 87.0(112 312 34 N-2 v¥9 -100  -59.0 59.0| 4 204 3¢ N+2 &4 150 -159.0 159.0
110 310 24 O= ¢Q -110 -87.0 87.0| 12 212 2NV= A -120 -80.0 80.0|101 301 2¢ S+3 &K 150 -159.0 159.0
114 314 24 O= &9 -110 -87.0 87.0| 14 214 2NV= sA -120 -80.0 80.0|111 311 2¢ S+3 #K 150 -159.0 159.0
5205 INO+1 8 -120 -101.0 101.0| 2 202 INV+2 «A -150 -97.0 97.0|113 313 4¢ S+1 ¥4 150 -159.0 159.0
9 209 4vDN-1 4K  -200 -149.0 149.0|110 310 2NV +1 #A -150 -97.0 97.0| 14 214 1¢ S+3 #K 130 -165.0 165.0
12 212 4vyDN-3 4A -800 -361.0 361.0|111 311 34 N-4 #Q -200 -128.0 1280 3 203 2¢v N= 45 110 -175.0 1750

BK Albrekts, Silverstegen Omg 15 2019-04-04, sida 3 av 3




